SECONDARY SCHOOL EXAMINATION - 2020 (ANNUAL)

211 SOCIAL SCIENCE (Model Set)
(arrfore fasm)
9y : 2 €92 45 e qorfE—80
Time : 2 Hrs.45 Minutes Full marks-80

geEnefal & fory faeer —

Instructions for the candidates :-

1. qerreft JUTEYd U veal H B STR T |

Candidates are required to give answer in their own words as far
as practicable.
2. i @R BRA W RY T sie Eie e a1
Figures in the right hand margin indicate full marks.
3. 9 U U Bl AFYdd U & foly 15 fAde &1 aifdRad wwa faan
T 2 |
15 minutes of extra time has been allotted to read the question
paper carefully.
4 qE U UH QT US| H B, WUe—3l Ud WUe—.
This question paper has two sections, Section-A and Section-B.
5. Yue—3] # 48 AR U ©, R 40 Ul & SR o B AR
qerreft 40 | Ifdd UTEl & SR < /Sl B, A UUH 40 SR BT Bl

1D fHIT S| S & fog 1 3 FeiRd g1 OMR TR 95®
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(ii)

w® A T W& gd B B /A dd U F R | BEER /AR

qqref / i€ /A 3fe &1 OMR SR UF® W UART T8l Y 31=yel

et gRoma =g BT |

In section -A there are 48 objective type questions, out of which
40 questions are to be answered. If the candidate answers more
than 40 questions only the first 40 answers will be evaluated.
Each question carries 1 mark. Darken the correct circle on the
OMR answer sheet with blue /black ball pen. Do not use Whitener
/Liquid/ Blade/ Nail etc on the OMR answer sheet otherwise the

result will be invalid.

Gus—g § HMINSTH I8 & =Hid |el 5 [AvAl & ofg ST U % |
UAd & oy 2 i FeiRa 2 |

In section-B, there are short answer type questions of 5 subjects
of social science. Each carries 2 marks.

Sfoer # 5 oY SN U (999 &A1 1 9 U Gl 5) © | R
fh=sl 3 el & IR < & |

History has 5 short answer type questions (Q No. 1 to Q No. - 5)
out of which any 3 questions are to be answered.

TG fIgm 5 @t 6 U (U2 F&AT 8§ Ued |&AT 13) & oA

fhgl 2 Uol & SR 29 2 |
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(iii)

(iv)

(vi)

Political Science has 6 short answer type questions (Q. No. 8 to
Q. No. - 13), out of which any 2 questions are to be answered
fUA H 3 oY SN U (U AT 16 9§ U WAl 18) © o
=gl 2 gedl & IR < 2|

Economics has 3 short answer type questions (Q. No. 16 to Q.
No. - 18), out of which any 2 questions are to be answered.

T H ol 5 oY ITRII UL (I HAT 21 F T F&AT 25) & (o
fh=l 3 Uedl & IR < B |

Geography has 5 short answer type questions (Q. No. 21 to Q.

No. - 25), out of which any 3 questions are to be answered.

IMUST Yee H Rl 4 g ST U (U AT 28 ¥ U WA 31) ©
ST fgl 2 el & IR @ & |

Disaster Management has 4 short answer type questions (Q. No.
28 to Q. No.- 31), out of which any 2 questions are to be

answered.

gD JfRET 8 <IE SR U (e | 6, 7, 14, 15, 19, 20, 26 3R
27) €1 U® & fov 4 3fe furRa € sfosmy Jomifa fasm, sefems,
T IS H IS H Uh—Ud U BT IR o1 T |

Apart from these, there are 8 long answer type questions (Q. 6, 7,
14, 15, 19, 20, 26, 27). Each carries 4 marks. One long answer
type question each from History, Political Science, Economics

and Geography is to be answered.

Pl TR & FAdeh—SIBRYT BT ST ol PN |

Do not use any type of electronic instrument.
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wgus—31 | SECTION-A

aqfiss 939 / Objective Type Questions.

Te T 1 W 48 TP B TAS U B A IR fAdbed € R 9 e 98 2
fhsl 40 UeAl & SR < | Ife gemelt 40 UvHl 9 Afd & SR <d /ol ®§,
UH 40 STRI BT B HeHidd BT | UAF & forg 1 3fd FeiRa 2| o= grT g7
¢ fddhen &1 OMR e wR fafed & | (40x1=40)

Question No. 1 to 48 have four options each, out of which only one is

correct. Answer any 40 questions. If the candidate answers more than 40
questions, only the first 40 answers will be evaluated. Each question carries
1 mark. Mark your selected option on the OMR sheet. (40x1=40)
S8, Jrotifa faer™, JNe, iR, Ud 3fUaT yeae:

History, Political Science, Geography, Economics, and Disaster

Management:
1. "IRMT BT AOST fh deT ST o1 ?
(A) g (B) g
(C) gaivs (D) wra

Who was called the “Sick man of Europe”?
(A) Turkey (B) Italy
(C) England (D) France

2, "I geoll BT RIUAT fhae @l off ?
(A) AR (B) ®1sx 7
(C) ATy (D) faeTrss 31
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Who had founded Young lItaly?

(A) Mazzini (B) Cavour

(C) Garibaldi (D) Bismark

RIS AfRAT fead &9 AR ST © 7

(A) 8 SR (B) 8 w4
(C)s w3 (D) 8 JeTrs
When is International Women’s day celebrated?
(A) 8 January (B) 8 March
(C) 8 May (D) 8 July
" IR fhae fordr ?

(A) STeEdT = (B) <fferd A
(C) oiff=1 A (D) &g =

Who wrote “April Thesis”?

(A) Trotsky (B) Stalin

(C) Lenin (D) Kerensky
Aifdad ¥ o1 fage b av gorm ?

(A) 1964 H (B) 1985 #
(C) 1990 # (D) 1991 #
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In which year did the Soviet Union disintegrate?

(A) 1964 (B) 1985

(C) 1990 (D) 1991

gfpRare H by fawg qadr & dfex € ?

(A) fas (B) Rra
(C) s (D) g=

Which Hindu deity has a temple in Ankorwat?
(A) Vishnu (B) Shiva
(C) Brahma (D) Indra

MRS @I 8T Bf Surter feas & ?
(A) &= A1 TR (B) T 9¥e

(C) YT HT TG (D) 37egcl el 3TTSlTG

Who gave the title of ‘Mahatma’ to Gandhiji?
(A) Ravindra Nath Tagore (B) Annie Besant

(C) Gopal Krishna Gokhle (D) Abdul Kalam Azad

gl ¥R Q@ e /AR AT A7 ?

(A) 26 STTaR 1930 (B) 26 STHTaNI 1931

(C) 26 STa¥l 1949 (D) 26 STa<I 1950
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10.

1.

When was “Purna Swaraj Day” celebrated?

(A) 26 January 1930 (B) 26 January 1931
(C) 26 January 1949 (D) 26 January 1950
ERTHS IRATST 2 -

(A) BT T WR (B) e 78 W
(C) &I a1 W (D) ©geT <l W

Hirakund project is on the :

(A) Mahanadi river (B) Godavari river

(C) Krishna river (D) Chambal river

T Mifd R4g St &1 o1 fdd TR H garm o ?

(A) SR (B) TeT
(C) @mER () ESIEEIE

In which city was Guru Govind Singh Jee born?
(A) Amritsar (B) Patna

(C) Lahore (D) Allahabad

S¥C SISYT T IR W B &1 aid & <91 &7 dxar o) ?
(A) @Rt B (B) =
(C) SITaT= &r (D) SIHITRAT Bl
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12.

13.

14.

To which country did the East India Company export opium from

India?
(A) America (B) China
(C) Japan (D) Afghanistan

w4l fhE Qe BT QTR o ?

(A) 1t (B) rRaT
(C) ws (D) Eivs
Rousseau was the philosopher of which country?

(A) France (B) America

(C) Russia (D) England

frforRad & &ie Tdiexoiig wameE 8 2
(A) UgTd (B) et
(C) 5T (D) <lIg 3 b

Which of the following is renewable resource?
(A) Petrol (B) Coal

(C) Water (D) Iron Ore

SITATR dol MNP HRET fba g d Rerd © ?
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15.

16.

17.

(A) TSI (B) arier ger
(C) sraw (D) df¥errg

In which state is the Jamnagar oil refining factory located?

(A) Gujrat (B) Andhra Pradesh
(C) Assam (D) Tamil Nadu
ARTR GRHA1Y] fIggd &= @ -

(A) Torrd (B) wERTSS

(C) aferTrg (D) ot

Tarapur atomic power station is in :
(A) Gujrat (B) Maharashtra
(C) Tamil Nadu (D) Rajasthan

UGTRUT EReTU B Usell favd RIeR Rl sl g o ?

(A) ¥TweE (B) A%!

(C) uRw (D) =T

Where was the first world summit for environmental protection
held?

(A) Stockholm (B) Moscow

(C) Paris (D) New York

1992 5. H Yodl IRYSI dal gl o7 ?
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18.

19.

20.

(A) TTHT (B) Pretn
(C) difStr (D) Rar € sRaT

Where was the Earth summit held in 1992 ?
(A) Dhaka (B) Colombo

(C) Beijing (D) Rio de Janeiro

YRA H BTl BT FAUHE SUGH 97 o

(A) 3nfsem (B) sR@ve
(C) uf¥=H e (D) BRI
The leading Coal producing state in India is :

(A) Odisha (B) Jharkhand

(C) West Bengal (D) Chhattisgarh

YRA H GAUHRI Mdel ScdTad T &
(A) 9o STt (B) foeR
(C) SR wow (D) <

The leading rice producing state in India is :
(A) W. Bengal (B) Bihar

(C) Uttar Pradesh (D) Kerala

IRT H AT BT UgAT YARYT fbg gy gair o ?
(A) 1923 (B) 1930
(C) 1933 (D) 1935

10
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21.

22.

23.

In which year was the first broadcast of Radio in India

transmitted?
(A) 1923
(C) 1933

YRd ¥ 8Rd Hifd & 8g -
(A) 1965 H
(C) 1967 #

Green revolution started in India in :
(A) 1965

(C) 1967

il HIST ST BT Pl A1 ©

(A) S[e
(C) wemH

(B) 1930

(D) 1935

(B) 1966 H

(D) 1968 #

(B) 1966

(D) 1968

(B) BT

(D) 379 I Big Tl

The raw material of Cotton textile industry is :

(A) Jute

(C) Silk

I I STEHd Bl Y g

(A) TETS

11

(B) Cotton

(D) None of these

(B) weT
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24.

25.

26.

(C) PR (D) ArTerqR

The main centre of Silk cloth production is :

(A) Lucknow (B) Patna

(C) Kanpur (D) Bhagalpur

SIRD HREMT AR §

(A) T # (B) df@r H
(C) wrargR H (D) sTeT #
Fartilizer factory is located in :

(A) Barauni (B) Banka

(C) Bhagwanpur (D) Bagaha

e @ AT @ fTeg et fhad Serlt off ?
(A) SITST Se], 2T (B) AT 2R b
(C) SITst aTi¥iTed (D) 3rsimeH foieh=

Who had raised the voice against Apartheid policy?
(A) George W. Bush (B) Martin Luther King

(C) George Washington (D) Abraham Lincon

o9 BN T BT &I IR A dTel Afdd I HaT el 2
(A) STferare (B) AT

12
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27.

28.

29.

(C) &9 U () EIEHEIE

The person who considers religion as mainstay of community is

called:
(A) Racist (B) Communal
(C) Secular (D) Idealist

ARA H I AT SMANT AfATH Ha g7 o1 ?
(A) 1960 (B) 1972
(C) 1982 (D) 1990

When was the National Commission for women act in India set-

up?
(A) 1960 (B) 1972
(C) 1982 (D) 1990

YR H AL F9T BT 769 6 gl ?

(A) 1946 (B) 1947

(C) 1948 (D) 1949

When was the Constituent Assembly constituted in India?

(A) 1946 (B) 1947

(C) 1948 (D) 1949

T RIS BT TS D Gl 2AT?

13
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30.

31.

32.

(A) 2 SIT 2014 (B) 2 5[ 2015
(C) 2 S 2016 (D) 2 S 2017

When was Telangana state formed?
(A) 2 June 2014 (B) 2 June 2015

(C) 2 June 2016 (D) 2 June 2017

“fRre! JATRTe” B B3N b 15T H B 7

(A) TORTT () EINES
(C) STRTES (D) RToRer=

Which state started the “Chipko movement”?
(A) Gujrat (B) Jharkhand
(C) Uttarakhand (D) Rajasthan

"ABAA BT gIoT’ fHA HEl ST § 7
(A) ISTIfd & (B) @I <
(C) anfi® T (D) ANTR® HIT3q

Which is called the “Soul of Democracy”?
(A) Political Party (B) Social Party
(C) Religious Party (D) Civic Organisation

faforRad § 4 &9 e g T B 7

14
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33.

34.

(A) ST T () (B) SI. TH. &.
(C) AR ST 9Ty () SIERSBEIESRIE]

Which of the following is a National Party?
(A) Janta Dal (U) (B) D. M. K

(C) Bhartiya Janta Party (D) Lok Janshakti Party

IRA H dAlwad & a1 Ak g ?
(A) SrferaTe (B) smcisars
(C) uRarars (D) 377 =t

What is the challenge of democracy in India?
(A) Casteism (B) Terrorism

(C) Familialism (D) All of these

g BT, “dlhas  SFdl &I, SFdT & §RT AT oFal & ol eI
7

(A) 3% (B) wul

(C) arsirgH i (D) W

Who said, “Democracy is the government of the people by the

people and for the people™?
(A) Aristotle (B) Rousseau

(C) Abraham Lincoln (D) Green

15
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35.

36.

37.

38.

IR H DI A HeH ATl D GIR BT b © °
(A) st (B) e ot
(C) AT IR I+l (D) 3 & DIy 2l

Which of the following steps is an indicator of democratic reform?

(A) llliteracy (B) Panchayati Raj
(C) Social inequality (D) None of these
HRA & AT IATANT B 3egel DI of ?

(A) ITTafer (B) SU rfeT

(C) yer=a=i (D) 374 @1g el

Who was the Chairman of Planning Commission of India?

(A) President (B) Vice President

(C) Prime Minister (D) None of these

AR H YorH Ueayy AT B Yw3MT Hd g 7
(A) 1950 (B) 1951
(C) 1952 (D) 1953
When did the first five year plan begin in India?

(A) 1950 (B) 1951

(C) 1952 (D) 1953

R ¥ foog el @1 ufa afad oma e &9 2 2

16
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39.

40.

41.

(A) ZoTTPYER (B) axsimm
(C) T (D) Rz

Which district has the lowest per capita income in Bihar?

(A) Muzaffarpur (B) Darbhanga

(C) Gaya (D) Shivhar

IMYFTH T B WIRT BT S &1 Bl 8 & — Ig HAF [hdAD © 2
(A) s¥pie CEEE

(C) Braer (D) 578 | BIg 2

The credit for progress of modern era goes to money alone —
whose statement is this?
(A) Trescot (B) Marshal

(C) Crowther (D) None of these

§ATQEl DI T BT A T & 7

(A) dFR (B) Tu

(C) Tz (D) 1t
What is the name of the currency of Bangladesh?
(A) Dinar (B) Rupee
(C) Euro (D) Taka
YR H AEDTRAT <l Bl TR™ D gl ?

(A) 1900 (B) 1902

17
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42.

43.

44.

(C) 1904 (D) 1905

When did the Co-operative movement start in India?

(A) 1900 (B) 1902

(C) 1904 (D) 1905

IRA # fhas Ifged d6 € 2

(A) 15 (B) 19

(C) 21 (D) 25

How many Nationalised Banks are there in India?

(A) 15 (B) 19

(C) 21 (D) 25

ATT BT ~GATH AaLIdD] FT © ?

(A) IS, HUST AR AGH (B) I, Wl 3R Heoll

(C) ®wueT, T 3R Feoll (D) T

What is the minimum requirement of human being?
(A) Bread, Cloth and House
(B) Bread, Fruits and Vegetables

(C) Cloth, Bread and Vegetables

(D) Oil

ST P YU ARBRI HaT & ?

18
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45.

46.

47.

(A) TR AT (B) forer ar
(C) &= Har (D) IrgIT= e
Which of these is a complete government service?

(A) Health Care (B) Education Service

(C) Military Service (D) Air Service
HRT ARBR - GIT BT ATDR ARIH g arka fbar ?

(A) 2005 (B) 2006
(C) 2007 (D) 2008

When did the government of India pass the ‘Right To Information

Act’?

(A) 2005 (B) 2006

(C) 2007 (D) 2008

“GAH” wreq fb W | foram war @ ?

(A) frer (B) grfere
(C) =mEia (D) ST

From which language has the word, “Tsunami” been derived?
(A) Spanish (B) English
(C) Chinese (D) Japanese

f=IferRad # ®I9 Urgpfde smuer 8 2

19
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48.

(A) 9 fawpie (B) ¥

(C)gg (D) ImafE gHeg

Which of the following is a natural disaster?
(A) Bomb blast (B) Earthquake

(C) War (D) Chemical accidents
HAd & i Gd Y AN BT Ul o & oY fbd I3 @l Haq ofl

ST 8 7
(A) Befldpiex (B) &=
(C) SRS &I (D) TefRapIq

Which instrument is used to locate people buried under debris?

(A) Helicopter (B) Binocular

(C) Infrared Camera (D) Telescope

20
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Yuvs—9 / Section-B

Av—axgf~rss 47/ Non-Objective Type Questions

oY SN 939 / Short Answer

Type Questions

gsfker™ / History

U AT 1 Y 05 qb oTg IRG U 2 | 599 I bl 03 ULl & IIR < | TP

3 forg 2 sfe fAuifRa 21

(3x2=6)

Question no. 1 to 5 are Short answer type. Answer any 03 questions. Each

question carries 2 marks.

1.

STHAT & UBHIBROT Bl J1eme &r off ?

(3%x2=6)

@

What were the obstacles to the unification of Germany?

T IR F1 7 ?

What is bloody Sunday?

el o F9E B T dreT ?

Why did Gandhiji break the Salt law?
3NN wifd & g F7 T3 § 7

What do you understand by Industrial Revolution?

S IRA H U Bl BT W YD1 e | (2)

Throw light on the role of press in Independent India.

21
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4" Sa9F 939 (Long Answer Type Questions)

Teq AT 6, 7 QI ITRIT U 2| 39 9 ¥l U &7 IR § 7 (4X1=4)

Question no. 6 and 7 are long answer type questions. Answer any one of

the following. (4x1=4)

6. SHAT @ TBHIHROT H I AT B YHBT BT qUiE I |

Describe the role of Bismark in the unification of Germany.

7. TRAT LT <A § RIS & IRTa a fad=qr & |

Discuss Gandhiji’s contribution to Indian National Movement.

o fagm=

POLITICAL SCIENCE

U A& 8 ¥ 13 T oy INIY U & | 99 I bl a1 yeAl & IR < | AP
@ forg 2 s FuiRT = | (2x2=4)
Question no. 8 to 13 are short answer type. Answer any two questions.

Each question carries 2 marks. (2x2=4)

8. et oy fhd ded § ? 2)
who is called bonded labour?

9. e uRve & fh=gl a1 dril &1 o | )
Write any two functions of Zila Parishad.

10.  ol—dqd BT T 8 ? (2)

22
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What is anti-defection law?

1.  Abas A MY T FHSA & ? 2)
What do you understand by Democracy?

12. G9MA1E W MY 4T 9 & 7 2)
What do you mean by nepotism?

13, 1 R &1 o1 diad & forg gH 8 2 2)
Is the lack of education a challenge for Democracy?

4" Sa9F 939 (Long Answer Type Questions)

T AT 14 UG 15 S1F ST U9 2| fR) Ue @7 SR © ? (4x1=4)

Question no. 14 and 15 are long answer type questions. Answer any one of

the following. (4x1=4)

14, TR 9 & geu SRl a1 vl o | (4)
Describe the main function of Municipal Corporation.
15.  dredd | fAuell g & AP &1 e & | (4)

Discuss the role of opposition party in democracy?

23
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3refeme

Economics

U AT 16 W 18 b ofg STRIY U € | 39 ¥ bl 2 Ul & SR < | TP
@ forg 2 3fw fuiRa €1 (2x2=4)
Question no. 16 to 18 are short answer type. Answer any 2 questions. Each

question carries 2 marks. (2X2=4)
16. ISR AR AT E ? 2)

What is national income?

17. IR ORI a1 & ®8d & ? 2)
What is called non-government service?

18.  fAoN®RUT I MU w7 FHIA § P 2)
What do you understand by privatisation?

4" ST 939 (Long Answer Type Questions)

U9 H&IT 19 3R 20 TIY ITRIT U9 & | 398 | el U &1 SR <7
(4x1=4)
Question no. 19 and 20 are long answer type questions. Answer any one of

the following: (4x1 =4)

19. e fera & g7 &=l &1 g o | (4)

Describe the main sectors of economic development.
20.  9IOIR H SUMIGAT B Heiedl Bl quid B | (4)

Describe consumer’s duties in the market.

24
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L RIG

Geography

U AT 21 W 25 T oY IR 50 (b8l 3 Ul b IR o | AP B oY 2
3 FEiRT B | (3x2=6)

Question no. 21 to 25 are short answer type. Answer any 3 questions. Each

question carries 2 marks. (3x2=6)

21.

22.

23.

24,

25.

IRA @ fhal IR Tl MIH HREME & A fIlRay |
Write the names of any four oil refining factories of India.
GTel GRAT | AT T FASII § 7

What do you understand by food safety?

SN ¥ UGHUT &Y heldl © 2

How does pollution spread from industries?

ferR # sienfie fUBsuT & ®I3 a SR ford |
Write any two causes of industrial backwardness in Bihar.

fI8R # S IAM & aT dwal & M forfey |
Write the names of two centres of jute industry in Bihar.

<" 99T 939 (Long Answer Type Questions)

U3 AT 26 U4 27 " IR ® | B U U BT SR < | (4x1=4)

Question no. 26 and 27 are long answer type. Answer any one question.

(4x1=4)

25
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26. GGl & el & T U 9adisy |
Suggest measures for the conservation of minerals.
27. UREGEA Ud HAR Wi & IUMAEr R UHRT o |

Throw light on the utility of transport and communication services.
3MU<T 99e

Disaster Management

U AT 28 ¥ 31 A oY SR 2| [l 2 Ul b SR < | YD b oY 2
3 uiRa 2 | (2x2=4)

Question no. 28 to 31 are short answer type. Answer any 2 questions. Each

question carries 2 marks. (2x2=4)

28. quT STel AU | 3T RIT FHST & 2

What do you understand by rain water harvesting?

2. gEIE @ UNIG B HF BRI B U BT Seeld DN |

Mention the measures for minimizing the effects of drought.

30.  V@HU I A MY AT FHe B ?
What do you understand by seismic waves?

3. Y94 @ g ?

What is rehabilitation?

26
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